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SECTION A {25 X 2 marks)
For sach question from 1 & 23, four ostions are glven. One of them is the comreot answer,
Mizkes your shoise {1, 2, 3 or 4}, Shade the corect oval on the Opiical Answer Shest

]

e

The diagram below shows the female reorcductive sysiem,

Parent's
signatura

Which part of the female reproductive system does the development of the fertilised

egg take place?
{1} A
(2) B
3 ¢
4 b



The chart below shows the process of fertilisation when A from Part X fuses
with B from Part Y in human reproductive systems.

Human Reproductive Systems
contain
Part X PatyY
produces produces
¥ 3
A B
fuse
becomes
fertilised egg

Which of the following shows correctly A, B, Parts X and Y?

Part X Part Y A B
(1) womb testis egg spem
(2) penis womb spemm egg
(3) ovary testis " egg sperm
(4)| testis ovary eqg | spem
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3. Study the flow chart below.

Planis R,S and T

Does the plant bear
fruit?

Does the

Does the

Is the fruit : fruit have
edible? fruit have wing-like
stiff hair? B

S T U
Based on the information above, which piant most likely disperses its fruit by
animals?

(1) Ronly

(2) Sonly

(3) SandTenly
(4) TandUonly
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4. Minah wanted to find out the effect of overcrowding on the growth of seeds
She used identical pots of size 30 cm?3 for her experiment.

Pot Number of seeds | Type of seeds
A 12 X
B 8 Y
C 8 X
D 30 X
E 30 X

Which of the following pots should Minah choose in order to ensure a fair
test?

(1) D and E only

(2) A, Band D only
(3) A BandE only
4 A CandDonly
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Theresa drew the diagram bslow to show how food and water are transported

to and from different paris of the plant 28 represented by the letters P, Q and
R

food — =
water ......... >
Q
4
R

Based on the diagram, which of the following parts of the plant are
represented by P, Q and R?

P Q R
¢)) lpaves stem roots
(2) leaves " roots stem
(3) roots leaves stem
“) stem roots leaves
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6.

Study the diagrams below carefully.

System R System §

Which of the following statements is/are correct?

oDOoOwr

(1)

(3)
(4)

Systems S and P protect our internal organs.

All systems need to work together in order for us to live.

Only System Q is required to allow movement lo take place.

System S works with System R to transport digested food to all part of

the body

A only

B and D only
A, B and C only
A,B,CandD
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7.  The disgram below shows ths fliow of blood in the human body.

blood vessel A

Lungs Organ Y Other parts of
Hooed the body
.
biood vessel B
Which af the following is comrect?
Organ Y Blood vessel A Blood vessel B
. confains blood rich in | contains blood rich in
(1) heart carbon dioxide oxygen
2) heart oXygen carbon dioxide
{3) brain carbon dioxide oxygen
(4) brain oxygen carbon dioxide




9.

The diagram below shows how sand is separated from water using a filter
paper. The filter paper enly allows some substances to pass through it

sand and water

Which part of a cell has the same function as the filter paper?

(M
)
(3)
(4)

The table below compares the plant transport system and human circulatory

nucleus
cell wall

cytoplasm
cell membrane

system. Identify the pair of information that is correct.

Human Circulatory System

Plant Transport System

(1)

Transports blood rich in carbon
dioxide to all parts of body.

Transports carbon dioxide to all |
parts of plant.

(2)

Transports blood containing
digested food to all parts of body.

Transports food that is made by
the leaves to all parts of plant.

3

Uses the heart to pump blood
containing materials to all parts of
body.

Uses the root and leaves to pump
materials to all parts of the plant.

(4)

Has different tubes to transport
blood containing digested food
and water respectively to all
parts of the body.

parts of the plant.

Has different tubes to transport
food and water respectively to all

PS SA2 SCIENCE 2017



10.  The chart below shows how various gases and digested food are transported
in the human body.

Digestive System |

n s

Key:
—> Path taken by digesied jocd
¥ Path taken by gases

food

e ——

_ exhaled ;\

Which of the following correctly identify substances X and Y and systems A and

B?

(1
(2)
&)
(4)

Gas X Gas Y System A System B
Oxygen Carbon dioxide | Circulatory Respiratory
Carbon dioxide Oxygen Circulatory Respiratory
Carbon dioxide Oxygen Respiratory Circulatory
Oxygen Carbon dioxide | Respiratory Circulatory
S PSSAZSEIENEE-2017




11.  The flow chait below shows the function of each part of a plant.

Functions of paris of a plant

Does it help fo
keep ths plant
upright?

&

Based on the flowchart above, which of the following correctly identifies the
different parts of the plant?

P Q R S
(1 Flower Leaf Roote Stem
(2) Leaf Flower Stem Roots
(3) Roots Stem Leaf Flower
4) Stem Flower Roots Leaf
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12. Anne placed an ideniical piant into each container of water as shown below.

plant

=] A 1ayer of oil
L 100mi of waier

100m! of water
— container

———container

She recorced the volume of water in each conta'ner hourly for one week. The
two set-ups were placed in the science lab. Which one of the following graphs
shows the change of volume of water correctly?

4D A ) 4

Volume of water
W
Volume of water
/i
>

(3) ’ (4) A

\folume of water
(o4}
Volume of water
(00]

v

- Time
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13.  Sarah placed a cover over a container which contained some boiling water.
The container was placed on the kifchen table.

o cover

container

;- boiling water

Beginning of experiment

After five minutes, Sarah observed formation of water droplets.

Which of the following diagrams shows correctly where the water droplets
would be observed?

0 c !

e water droplets

NTIINAA water droplets

water droplets

“)
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14.

15.

The {able below shows the meking points and boiling points of four different

substances, P, Q,Rand 8.
Substance Moeiting point (°C) | Bolling Point (°C)
P | 80 220
Q 0 160
R 24 74
S 13 _ - 60

Which of these substances isfare gas(es) at 75 °C and Hiquid(s) at $0°C?

(1) Ponly
(2) Sonly
(3) PandRonly
(4 RandSonly

Kate set up the experiment below to investigaie how the material of an object
would affect the amount light passing through it.

Object

Torch
Light sensor

I lomveees

Which of the following variables should be kept constant ic ensure a fair test?
A The material of the objects.
B The thickness of the objects.
C The amount of light from the torch.
D

The distance between the torch and the object.

(1) A, BandC only
(2) A, BandDonly

©)
(4)

B, C and D only
A, B, CandD

R5-SA2-SCIENCE 2017



186.

Baob set up an experiment in a dark room using a torch and four sheets made
of different matsdals, A, B, C and D, One of the sheet had a hole cut out

from it.

The propesties of the four materials are shown in the table below. A tick (¥)
shows the presence of the property.

Matevrials| A B C D

Properties

Allows most light to vyl N
pass through

Does not allow light to v ¥
pass through

How should Bob arange the sheets if he wanted a bright circular patch of
light to appear on the sheet at Position 3 ?

w — NN N
— ) 0

NN ANANAN

Position1  position2 Position 3 Position4 |

Position 1 | Position 2 | Position 3 | Position 4
(1) A B D C
(2) A C D B
(3) B D C A
4) B C A D
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17.  Rina has three objects as shown balow.

o -y
5em 5cm
5 cm
3 . ‘r Y , 2
5cm 5¢cm .
wooden board clear glass cardboard

Then she glued the objecis and prepared an experimental set-up as shown

below.
torch
Al
I : ) i
wooden clear cardboard screen
board

giass

Which one of the following cosrectly shows the shadow forined on the screen?

(2) .

(4)

15 PS-SA2-SEIENEE2027



18.

19.

Justin placed a metal spoon in a cup of cold drink as shown in the diagram
below.

mefal spoon

cup of cold drink

The spoon became colder after a while,
Which one of the following sentences correctly explains what happened?

(1)  The cup gains heat from the cold drink.

{(2) The ccld drink loses heat to the metal spoon.

(3) The meatal spoon loses heat to the cold drink.

(4)  The metal spoon gains heat from the cold drink.

Two beakers of water, A and B, were heated with the sameé ameunt of heat
uniil the water boiled. The changes in the temperature of water for each
beaker were recorded in the graph shown below.

Temperature
(°C)

Time

.

Eminutes}

Which of the following best explains the graph above?

(1)  The water in beaker B was heated over a longer period.

(2) The amount of water in beaker B was more than the amount in beaker A,

(3)  The water in beaker A had a higher boiling point than water in beaker B.

(4) The water in beaker A was warmer than water in beaker B at the start of
the experiment.

16 P5 SA2 SCIENCE 2017



20. lanwanted to find out if board A or B is a better conductor of heat. Ha placad a
beaker of boiling water each on board A and B respeciively.

L

Setup B

He recorded the change in iemperaiure of water in each sef-up and conciuded
that board A was the belter heat conductor. _
Which one of the following graphs best represenis the resuli of lan's experiment?

(1) Temperature {°C) (2) Temperature (°C)
A
100 Set-up B
L Set-up B
et-up A Set-up A
>Time >Time
{min) (min}
(3) Temperature (°C) (4) Temperature (°C)
100 100
SBt_up B Set-uﬁ A
Sei-up A . Sei-up . Time
>Time “ {min}
{min)
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21.

The diagrams below show four circuits.

In which one of the circuits will the bulb light up?

(1)

(2)

()

“4)

18
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22.  Marcus used a circuif tester fo4est a ¢ircuit card, He recorded the resulisinz

table a3 shown bslow.

A Circuit Tester

goniact
points

(]

Clips tested | Does the bulb light up?
Wand X Yes
Wand Y Yes
Wand Z No
XandyY Yes
Xand Z No
Y and Z No

Which one of the following circuit cands shows comectly the way which the
metal clips are connecied by wires?

i &
W W
z bx |z &= X
Y Y
(3) (4)
W W
z THE: =) X
Y Y




23. The diagrams below show four circuit diagrams, P, Q, Rand S.

—h— i
o lool losl
R S

P Q

Which one of the following shows comectly the arrangement of the bulbs from
the dimmest to the brightest?

(1 P,S,RandQ
() P,Q.RandS
3) QAR SandP
4 S,P,RandQ
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24. Lany used three magnsis, AB, CD, EF, and attached them to the ceiling at
equal distance from one another as shown balow.

The diagram bslow shows the interactions between the thres magnets.

L 2SS LSS s ss S cailing

A By C D E F

Which one of the following armangements is possible?

1) (2)

G E F E |cC D
A B D ~ 8 A
(3)
(4)
C D
A B
E = A BiE F

21 P5-S5A2-SEIENCE2017



25. The diagram below shows a steel bail tied to the wooden block with a string.

it suspended in mid-air with the help of a magnet. When sheet X was placed
between theiron balland the magnet, the iron ball dropped to the ground.

magnet
steel ball ﬂ/ sheet X ﬁ
string
wooden block |
% 8
Before After
Which one of the following identifies sheet X and the conclusion drawn from
the observation correctly?
Shest X Conclusion
(1) Nickel Magnetism cannot pass through a magnetic object.

(3] Copper Magnetism cannot pass through a non-magnetic object.
3) Aluminium Magnetism cannot pass through @ magnetic pbject.
| iron Magnetism cannot pass through a non-magnetic ébject.

22 PS5 SA2 SCIENCE 2017



Name: tndex No: Class: P5 40

SECTION B (40 marks)

For questions 26 to 38, wiite your answers clearly in the spaces provided,
The number of marks is shown in brackets [ ] at the end of each question or parl question.

28. The diagram below shows a family iree.

Ke 2
i Male with frait X . Female with trait X

Male without trait X O Female without trait X

Mr Wong

@ @

& m #
° @

Brina David

Based on the information above, answer the following questions.

(a) Brina has two children, a boy and a gir, both with Trait X.
Complete this piece of information by drawing in the family tree above. [1]

(b) How is MrWong related 1o David? [i]

SCORE
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27. The dlagrams below show two flowers, A and B.

stigma

brghtly coloured
petal

feathery stigma

anther hanging
outside the flower

Based on the information above, answer the following questions. (4]

(a)Flower A
(i) Poliinated by:

(i) Reason

(b)Flower B
(i) Pollinated by:

(i) Reason

SCORE

4
24 P5 Science SA2 2017




28. Yi Leng set up the following experiment fo find out if planis take in water through
their roots,

: plant

e Wwater
—7ools

She used two identical containers and poured equal amount of water in each
container. She recorded the water level info each container after one week. She
found out that the water level decreased in Set-up F only.

(a) What was the purpose of set up E? 1]

(b) Her teacher commented that she did not carry out a fair test. Suggest what
she should do to ensure a fair test. Give a reason for your answer. [2]

SCORE

3
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]

29, The diagram below shows the human digestive system.

P
Q
.
S
T
(a) Atwhich part(s), P, Q, R, S or T, does digestion take place? 1]
(b) What happens at Part S during the digestion process? M

Organisms A are harmful organisms that live in the human small intestine due to
poor personal hygiene. These harmful organisms get its food from the small
intestine and damage the small intestinal wall.

small

organisms A intestine

(c) Based on the information above, give a reason why a child infected with

organisms A will not get enough nutrition. (1]
SCORE
3
26 P5 Science SA2 2017



30. Faith sxamined three difierent cells under a microscope and recorded her
observations in the table below. A tick {¥') indicates the presence of the part in

the ceil,
Cell Paris CellX |CellY |CeliZ
Cell Membrane v v v
Cytoplasm - v % v
Nucleus v v v
Cell Wall v v
Chioroplast v

Based on the information above, answer the following questions.

(a) Falth identified Cell Z as a cheek cell. Do you agree with her?
Give a reason for your answer. 1]

(b) Cell membrane is present in ail three cells.
What is the function of the cell membrana? 1]

(c) Which cell, X, Y or Z, most likely comes from the leaf of a plant?
Give a reason for your answer. (11

SCORE
3
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31. The diagrams below show the circulatory system of a mammal and a fish. The
amows represent the blood vesseis that camy blood from the lungs or gills to
other parts of the body of a mammal and a fish respectively.

Circulatory system of a human

. r
[ Lungs Al Heart B Cther parts of J
< - the body
A I
Circulatory system of a fish
G

r

Gilis Heart | Other parts of
«E I the body

Compare the circulatory system between a human and a fish.
(a) State a similarity. 11

(b) State a difference. )

SCORE
2
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32. Samantha removed part of the stem as shown in the diagram bslow and
watered the plant with red-coloured water. Ak part B, the feod-camying tubs has
been removed. At part A, both the water and food-carrying tubes have been

removed,
7"

3-om ring is removedj _T_E'-A
from stem '

e
1-cm ring is removed | -

from stem {#:T

cross-section oi the stem

After one day, sha observed that only the leaves between part A and B of the
stem had tumed red.
g |

B 8

P Q R S

(a) Which one of the above diagrams, P, Q, R or S, shows the obseivation
made at part B of the stem after some time?

Explain your answer clearly.

(2]

(b) Samantha observed that the leaves above part A of the stem died after iwo
days. Explain this observation clearly. (1]

' SCORE
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33. Alison canied out an experiment with four pots of identical plants, W, X, Y and
Z, using the same amount of ldentical type of soil. She removed different parts
of the plants as shown below. She watered them daily with the same amount of
water and observed them for a few days. '

Fruit was Most of the roots | Flower was

All leaves
removed were resnoved removed

were removed

Alison recorded her observations and provided reason for her observations in

the fable below.
Fill in the box with either ‘T’ for True or ‘F' for False. 21

| True(T) /
Observation | Reason False(F)

It does not have enough food as the fruit is
Plant W dies removed. )
. it does not have enough water as most of the roots
Plant X dies ale rermeved.
Plant Y dies | it does not have flowers to attract insects.
Plant Z dies | It does not have leaves to make food for the plant.
SCORE
2
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. Sarah preparcd a set-up using a sealed wooden box with a wooden piank giued
on the side of the box as shown below. She cut an opening on the fop of the
box. She piaced a healthy green plant under the wooden plank. She then

covered the wooden box and placed it near a window. She watered the plant
daity.

an opehing

wooden plank

a poited plant Z

74

inside of the wooden box

(2) In the diagram below, draw what she would observe on the direction of the
growth of the plant after two weeks. Use an arrow ( —) fo indicate the

dsrecinon f1)
o
wooden plank
(b} Explain your observation in (a). 2]
SCORE 2
3
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35. The diagram below shows a water cycle.

(a) Name the two processes, P and Q. (2]
P
Q:

The diagram below shows a set-up used to collect water from the environment.

pebble plastic sheet pebble
T pebble AT
- wet soil
N ) : e
= container
(b) Explain how water is collected in the container in the set-up above. (2]
SCORE

4
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36. Jeanne wanied to find out which cup is befter to kecp water hot for a longer
pericd of fime. She used the cups as shown below. Both cups are made of the
same type of glass and can confaih the same amount of water.

air
space

Doublelayered thick glass  Thick-fayered glass
Cup A CupB

She poured 100ml of waler into each glass and measured the temperature of
water at the start of the experiment After ten minutes, she measured the
temperature of water in each cup and recorded the results as shown below.

(a) Predict and write dewn the iemperature of water in cup A afier ten

mirutes in the table below. (1]
cu Temperature of water at the Temperature of water
P | start of the experiment ('C) after 10 minutes(’C)
A 70
B 70 45
(b) Explain your answer in part (a). [1]
SCORE
Continue on next page 2

33 P6-Science SA2 204



Continued from previous page

Joanne found out that holding a ripple-walled cup of coffee would be less hot

compared to holding a smooth-walled cup of coffee. The two cups are shown
below.

spaces in
e between
-r.‘;f'"-' : :-:-. ﬁpp.e's

smooth-
walled
cup
magnified view
(c) Explain why it is less hot to hold a ripple-walled cup of hot coffee, 2]

SCORE
2
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37. Ahmad placed theee rods, A, B and C, in tha two circuils, X and Y, as shown
belovs.

il !
W 4!
s
V%
2
Circuit X Circuit Y

He recorded his observations in tha table below.

Circuit Number of bulbs light up

X 1

Y 2

Ahmad set up another circuit using rods B and C as shown below. Three new
identical bulbs, B1, B2 and B3, were connscted in the circuit shown below.

81

A C
= REREES
\/
523 9 83
B
ey
(a) Which bulb{s} will light up? Explain your answer. i2]

Continue on next page BEORE /2|
|
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Continued from previous page

Ahmad set up another circuit as shown befow using the metal clip.
The metal clip, when connected to positions 1, 2 or 3, will act like a switch.

Position 1

|||‘

| -
T
L]

Position 2

O-

Position 3
mefal clip o_

(b) Atwhich one of the positions, 1, 2 or 3, will the bulbs light up most dimiy?

Explain your answer.

2]

SCORE

2
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38. Kimberily observed that magnet X and cbject £ were atiracted as shown below.

A
Magnet X Object P
{a) Using only magnet X and object P, what should Kimberly do to find out if
obiest P is a2 magnet? 2}

When Magnet X was placed over a tray of pins, it attracted fifteen pins, Kimberly
dropped Magnet X several times and placed it over the same iray of pins.

{t) How many pins would be atiracted to Magnet X? Give a reason for your
answer. (11

SCORE
- End of Paper - 3
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EXAM PAPER 2017 (P5)

SCHOOL : RAFFLES GIRLS’

SUBJECT : SCIENCE

TERM : SA2
a | @ a3 Q4 Q5 Q6 Q7 Q8 | as Q10
2 3 3 4 1 2 2 4 2 4
ati Qi2 Qi3 Qa4 | ais Q156 Q17 Qis Q19 Q20
3 3 a 4 3 a 1 3 2 3
Qz1i Qz2 Q23 Q24 | Q5
3 2 1 2 1
26)a) 75 b)Mr Wong is David’s grandfather.

27)a)i)Animals

ii)Flower A has brightly- coloured petals, has nectar and its anthers and
stigma are within the flower.




27)a) b)i)Wind.

ii)Flower B has large, feathery stigma and its anthers are hanging outside
the flower.

28)a)To act as a control set-up.

b)She should add cooking oil at the surface of the water for set-up F. The
layer of cooking oil would prevent the water in the containers from evaporating
and affecting the results of the experiment.

29a)Parts P, Rand T.

b)Water would be absorbed from the undigested food into the bloodstream
at Part S.

c)Organism A will take the nutrients away from the human.
30)a)No. A cheek cell does not have a cell wall Cell Z has a cell wall.

b)The cell membrane controls the movement of substances into and out of
the cell.

c)Cell Y. Cell Y has chloroplasts which contain chlorophyll to trap light and
make food for the plant during photosynthesis.

31)a)Both the circulatory systems between a human and a fish have blood
vessels to carry blood.

b)Blood passes through the heart twice in a complete circuit around the
body in the circulatory of a human while blood passes through the heart once in
a complete circuit around the body in the circulatory system of a fish.

32)a)Diagram P. Food made by Leaf X could not be transported down to the
lower part of the plant below Part B as the food-carrying tubes were removed
and will'start to accumulate at Part B.

b)The water-carrying and food-carrying tubes were removed. Hence, the
leaves above Part A could not receive any water. Without water, the leaves
above Part A could not make food and will eventually die.

33)F,T,F,T



34)a) e

wooden plank

/

b)Light could enter the wooden box through the opening. The plant would
grow towards tlhie direction of the sunlight to trap light and make food for the
plant during photosynthesis.

35)a) P : Evaporation.
) Q : Condensation

b)Water from the wet soil gained heat and evaporated into water vapour.
The warmer vapour came into contact with and lost heat to the cooler
underside of the plastic sheet, condensing to form water droplets which dripped
into the container.

36)a)60

b)There are air spaces in between the glass foe Cup A. As air is a poor
conductor of heat, it would conduct heat away from the hot water to the
surrounding more slowly than Cup B.

c)There are air spaces in between the ripples. As air is a poor conductor of
heat, it would conduct heat away from the hot coffee to the hand slower than
the smooth-walled up.

37)a)B1 and B2 will light up only rod C, which is an electrical conductor, so it
forms a close circuit for electricity to flow through bulbs B1 and B2.



37)b) b)Positon 3. At positon 3, electric current could flow through Bulbs A, B
and C, causing them to light up. There were more bulbs connected in series at
position 3 than at position 1 and 2 . Hence, lesser electric current could flow
through Bulbs 1,2,3, causing the bulbs to light up most dimly.

38)a)Placing ends B and D close together . If both ends repel each othet,Object P
is @ magnet.

b)Magnet X would attract seven pins. When dropped several times, Magnet
X lost some of its magnetic strength and hence, would attract fewer number of
pins.
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